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PAPER 1 '(BOOKLET A) -

Questions 1 to 10 carry 1 mark each. Questxons 1‘! 015 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.

‘.,,,..j'.:,l-Make your. chouoe 1.2, 30r4) Shade theiéiraf(‘l 2, 3or4) on. the Opttcali' T n
.:.,,.__...jAnswer Sheet_ ) ‘ L L

1 Which one of the following-numbers. isj,,ggeat‘e_ﬂhan‘;;szo tens?
() 2
@ 320
(3) 3200
(4) 32000

2 Subtract 97 from the sum of 658 and 143.

(1)
2

@
4)

612

702

704

898

(20 marks}‘“f_: ST



How many common factors are there in 16 and 247

L) 12

Comea e

(4) 4

~ Express 40 té_‘nths“ and 55 thousandths as a decimal.-
(1)  0.405
(2) 0455
(3) 4.055

(4)y 4055

3 similar shirts cost $206.70. What is the cost of 1 such shirt?

(1) $70.00
(2) $68.90

() $66.90

@ seoso



The volume of a cuboid with a height of 7 m is 252 m*.  All the sides of
the cuboid are-whole numbers. Which one of the following is NOT a
~possnble iength of the: cuboid?

S
L@
@

@

36m

 In‘the fi gure betow ST UV WX and YZ are. stratght hnes Whlch of
- the following angles when added up, have the same value as AUOZ?

()

: '-.-(3)' . Zb Ac and Ad '

@

S

- Za andéb

‘ _' Ac and Ad

Ac, Ad and Ae



8 The figure below shows the net of a cube. Which of the following 2
faces lie opposite each other when the net is-folded into a cube?

—

(1) PandQ
@ Pands
(3 RandU

(4) TandU

. 9 Find the value of 2 x 5y + 3y x 0, when y = 3.

(1 o
2 13
(3 30

4) 39 |



10

1

The ysual price of a fan was $240. During a sale, it was sold at a

@
@

(1)

(2)

@
@)

discount of 20%. - " How much did the fan cost during the sale?”

ey g e SIS

$200

hTap A took 20 mmutes to ﬁll a pool to the bnm Tap B took 50 mmutes -
" to fill the same pool to its brim. . Tap-A was turned on for 10 minutes

-and then turned off. - How Iong dud Tap B take to fill the restoﬁhe pool
- Yo the bnm'7 '

15 min

20 min

.25 min

30 min



12 The diagrams- ‘below’ show the front view and the back view of a cuboid.
The > 'osd is made up. of a total of 16 white. and shaded 1-cm cubes.
he total olume of the shaded cubes?

////nn - .

aEE S
e/

Front View

4\\\

SRR

\\\\\\\\\

o oo
o e
@) 11em®

4) 16 cm®



13

Ameer-had to deliver goods to 2 towns from Town Z. He was given a
map-and thie following in '
Drive southwest from Town Z to: the ﬂrst town to do the first delivery.

From the. ﬁrst town, dnve north towards -the next town to do the ﬁnal

."_',delwery S

(3 TownC

®

Town Z - o { '

Town B
®

Which town did Ameer do the final delivery?

(1) TownA

(2) TownB

@ TownD



14  The pie chart below shows the amount that Josephine spent on the
“diffel items on her :trip.. . She. spent. the - same amount on
“-accommodation.and airfare_. > She spent a total of $1600.

./ accommodation | . meals. - N. . . .

o
_airfare -

.3 .shopping . 5
8

How much did Jgsépﬁine,spend, on her airfare and accommodation?

, (1) %200
@ $300
(3) %400

@) $600-



15

'The" is an ‘equal-number-of pupils in 6A and 6B. The ratio of the
nt of girls:in:6A is 2: 1. The ratio of the
V,,;gxrls in'6B:ds4.: 11. What fraction of

B
@ <



Name: (- ) Class: Pré ( )

P6 Prelim» 2015

: »:‘-PAPER 1 (BOOKLET B)

L ;Questuons 16 to 25 carry 1 mark each Wnte your answers in the spaoes B

g "prowded For questtons whxch requare umts gwe your . answets in: the umts e

- stated. -
(10 marks)

16 Fihd'the'\ieSUé of 26%-1081 -

‘Ans:

17 1
4

Ao
+
Alw
+
Slw

=1+ x

What is the missing number in the box?.

~ Ans:

"18‘ Sa!lyuses g cupsofsugartomakea..ak., Howmanywpsofsugarf. SRR -

wnl! she use to make 5 such cakes?

~ Ans:

10



19 Tom.'s mass is48.54 kg. - Round off his’ mass to 1 decimal place.

20 A plane took 4. h. 30 min.to fly from Singapore to Shanghai. It left
“Singapore at-7.55-a.m.. --Atwhat time did the plane arrive at Shanghai?

Ans: . p.m.

21 Whatis 3005 g in kg?

‘/‘\ns: » _A kg N

11



22 Inthe figure below. ABEFisa bara‘ll‘érémaa‘nd BCDE is a trapezium.
Given that LAFE = 75", find Zy:3

23 In 'thevﬁguré’.b'e:lpw, AB is the line of symmetry ' Shédéé?»fh’iti’ré 'tharés )
~ to make it symmetrical. ‘ ' I

. !’b""""'

12



24  The angles in a four-sided figure are in the ratio 1: 2: 3 : 4. Find the
value of the smallest angle in the figure.

.-Ans; :

25 Adam took 20 min to oomplete a B-km race Ftnd hrs average mnnmg
speed m mlmm :

Ans: - m/min

13



Questions 26 to 30 carry 2 marks each. Show your warking clearly in the
- space prov:ded for each gquestion and. write your answers in the spaces
pr_ |ded For questtons which reqmre units, give your answers in the units

26 Theiprodudt of two fractions is % ~ One of the fractions is % “Whatis®

the other fraction?

. Ans:.

27 The length of a rectangie ist 6 times |ts bneadth  Given that the area of
the rectangle is 2400 cm?, find its breadth.” ' )

Ans: oL cm

14



28 In the vﬁgure below extend the: tessellation. by drawing -1 more unit
p ‘space-provided wnthmthe box.

15



29

Participants of a spelling bee -contest: must obtain at least a certain
score in the first round to qualify for the second-round. There were 200
participants. in the first round. The table below shows the bands of

_ soore-ot_;tained-by the par_ticigaqtg..

: Band of Score Number of Parhmpants HEE SR RS

“el i Below 10 5l 26, TR SRR

- 40

. 60 .
30

- Ans: -

30

~ Bala is 7n'years old now. In 20 years’ time, Bala will be 3 times.as old

as Ali. Find Ali's age in 20 years time.

Ans: -

+4+++END OF PAPER++++

16
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-».‘.:}_-For questlons whnch reqmre umts glve your: answers in the umts stated e

PAPER 2

Questlons 1 to 5 carry 2 marks each Show your worklng cleady in the space
,provnded for.each .question.and- write your answers in the spaces prowded _

S Fm in the boxes wuth +. -. x andlor + to make the number statement true.: : R

Use each operatlon only once.

2 Ahce had a square garden in front of her house as shown in the ﬁgure
below. She used a total of 24 m of fence to enclose the 3 sides of the
garden. What was the area of the garden'? 7

. Ans: ‘ . m




3 I think of a number and muitiply it by 10 to get a new number. The sum
of the original number and the new number is 253. What is the original
“number?

4 . Tank A contains some water with a. water level of 51 cm.. - Tank:B-is.

.~ empty. The Iength of Tank A is half that of Tank B and the breadth of
~ Tank B is three times thatof Tank A. -Whatis thematenlevet in: Tank B .
- if all the water in Tank Ai is poured into Tank B? ‘ ‘

Ans: cm

5 The average mass of a group of boys was 45 kg. Wnen the nurse

measured and recorded . the mass of one of the boys. she wrongly
recorded his mass as 42 kg when it should have been 24 kg. As a
result she ca!culated the average mass as 47 kg.  How many boys
were. there in the group’? S :




question or part-question..

. For questions 6 to 18, show ‘your working clearly in the space provided for

each question and write your answers in the spaces provided.
The.number.of marks available is shown in brackets [. ] at the end of each

6 There were 24 passengers on a bus. ~The ratio of the number of men
" to the number of worhen'to the numbeér of children was 3:2 =1 Atthe. -

next stop, 10 more people boarded the bus. 6 of them were men, 2 of
' them were women and the rest were children. What was the
~_percentage increase of children on the bus? T

Ans: - [31

7 Ying and Jones had some money each. The_ amount of money that Ying _
had was % the aiﬁount ‘of "mbriéy Jones had. They wanted to buy a.
watch each but Ying was short of -_$26.60 and Jones was short of

- %1 5.20. How much was the watch?

Ans: _ 13

. (somarks)



8 In the figure below, AB'and BC are two sides of a parallelogram ABCD.
"(é)*“"Measure‘ahd'writ“e down the value of ZABC.

- (b) Complete the drawing of the parallelogram. .- - _.[2]'

CAnsi@ _m

-9  lIfan bought.some tarts -énd-piés for $17.60. -Each tart-cost $0.80 and
each pie:cost:$1.20. Given:that- 80%. of:-what:she-bought were tarts,
how many more tarts than pies did he buy? ' -

Ans: _ 3




10

r_‘An express train left Town P for Town Q. At the same time, a normal

train left Town Q for- Town P. The average speed of the express train

. was: 90 km/h more than that.of the normal train.. The express train and
-normal {rain._took. 4 hours: and 10 hours to reach their destmatlons “

o ;--»ro@cpectlvely Fmd the average. speed of the express tram

 Ans: - A [3]




11 The line graph below shows the amount of rain collected in-a town
from JanUary to June

EOR | '}-' 200 F
Amount of ==
rainfall (mm)
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(a) How many percent more rain was col!ected in January than
in March'?

Anis_ D (@) — : 2]

(b) The ratio of the amount -of rain col!ected in May to the amount
: of rain- coliected in June was 7 : 6. How much ram was SR
. coilected in: June'? Complete the - hne graph’ above to show the _

amountof ram ooﬂected m June ey q21 -



12

~ In the figure below which is not drawn to scale, EFGH is a

lelogram. ;Q.is the.centre of the circle:

Ans: (a) [2]

® 2]




13  Figure -1 below is formed by a rectangular box measuring 38 cm by
15 ¢m and 2 identical white-balls with diameétérs 7 cm. The two identical

- ‘whiteballs-are fixed to the box at-a point. - Ball A, which is the same size

as the 2 identical ‘white: balls, rolls -anti-clockwise along the sides of

.. Figure 1as shown in Flgure 2. Find the distance that Ball A has rolledﬁ_ R
?along F'g“'e 1 When i ret”" ns. back to’ |ts ong!na! posmon- (Take = 3_14) TR

@ £)4,-Ba"A '.—.—-';8§_

15.cm

38 cm.

A
v

F'gufe1 | | " Figure 2

- Ans: S .




14 Mr.-Yong uses two different square tiles, Tile A.and Tile B, to tile the floor of his
-of.his room. ..:Bothtiles: are made up-of 4 small squares.

- f- He lays the hles a&temate'ly as shown in: the dtagram below- The ﬁrst four
rows of the-tiled floor are shown: belaw

- '_Row1’ -
: »i‘.Row3 |

| '_ Row4 ]

" (@) Which tile does he use for the first tile in Row 10, Tile A or Tile B?

+- (b) Heuses 105 ti‘l,es'in all. How many black squares are there on his
floor?

As @ o

(b) - S




15

(b_)_ \Some water 1s poured fmm- T_ank A %o Tank !

28cm-

Tank A and Tank'B contaln some . water. Tank A, with a base area of
- 756:25- cmz has “awater

r-level of 28 cm. - Tank:B is made up-of a-cuboid
with.a rectanguiar base and a cubond -with a square base. The water
levelin Tank B is 20 cm. :

o ":'i,':"'-(a) What is the volume of'water‘m Tank A when the water level lS at

14 cm? ‘

Ieve!s m th Tank A al r

Tank B

BRGNS

10

DRI )



16 Donna had some candies. She kept half of the number of candies plus
R VIR S N tagl 1
: temalmng candres to Jane Jane ate — of

[nd:es : Then Jane gave me remammg candtes to

o __Kate Kate ate z ofthe candtes and had 42 wnd:es !eft How many-‘_.-:;-‘-_ R

' ‘ candues dnd Donna have at ﬁrst"

Ans: ‘ (5]

11



17

fromhallB

On Monday, there were: 280\fewer chairs in Hall A than in Hall B. On
' 0' 5;,of the cl;)alts were moved-#om—ﬂau—s-to Hall A. On

T ~many chalrs were there m Hall B at ﬁrst’7 ; S

- Ans: ‘ {5}

12



18

Steve Mark and Ryan took their father out for a meal. Steve had $40
ore Mark. - lf ‘Steve paid for the meal, the amount of money that

ft will be inthe ratio 3 : 8 : 9 respectively. |If
] ountof: money Steve, Mark and Ryan left
*+: respecnve!y !fMark pard for.the meal, the

R :amount Of money Steve Mark and Rya_‘ leﬁwould be mthe rat;o P e

- Aiswer B : : . [5] S -

++++END OF PAPER++++

13






EXAM PAPER 2015

LEVEL : PRIMARY6

SCHOOL :NANYANG PRIMARY SCHOOL
. SUBJECT : MATHS

TERM  : PRELIMINARY EXAMINATION

R ON

jQ1 Q303 _ 06 o7 Jos J@ Jqio ]

o S BT, - R Sl MY A DR SO BERE St B T A
»3. ; 1 ES

Q16. 2808-)26::108 - 2808 L Q17 5 -)1— o 1
018.7.5 -)—xS —x5———~7.5 " Q19.485kg > 48.54 ~ 48.5
Q20.1225pm  Q21.3.005kg Q22.105 Q23.SEE PICTURE

&3

M-~~~

-Q24.36° 9 1u:2h: 3u: 4u=> total 10u, 360 < 10 = 36, 1u D36°
Q25. 400m fmin & 8km = 8000m, 22 = 400m/ min

Q26. :-)-E—f SxI=2=2 Q27 20cm > 2400 3120 X 20 Q28. SEEPICTURE -

5%

L Q29 31 ") 20+35+ 15+40+60+3O 200 35%x200 70
Q30: (”‘*2")

QL{6+6)x6-6=66 Q2 64m?»24:3=8,8x8=64 Q3.239 11u-> 253,1u I23.
Q4. 8.5cm =¥ Length-of A : Breadthof A, 1:1. Length of B: Lengthof B 2: 3
Q5.9 > 47 -45= 242 24 =18, 18-—2 9

Q6.50%'9M W:C->3:2:1,+6:=2:+2, 6u 24, luP24:6=4,10-6-2= 2
Q7. $30.40 <» $26.60 - $15.20 = $11.40,$11.40 = 3=$3.80, $3.80 + $26.60 = $30.4()




Q8a 133° Q8b. SEE PICTURE

~Q9.12 -)8x 80cents -$6.40,2x$1.20 = $2 40, $64D+$2 40= 3880 $1760 $880 2

“ Tarts 916,16-4=12,Pies 4. -

) Q10. 150km[hr -)Express'!‘ram ‘Normal Tram Time : 4. 102 2:5, Speed 5 2, Dlstance 1: 1
' Speed~5 2;Distance :1 : 1, 3u 90, 1u>90 +3=30, 5u -)5x30 =150.

“Q11a:50% -)]amxary =255, March -)170 255-170= 85 — = 50%

'Q11b.120 > SEE PICTURE a " wop -
250 £ ‘\;\

200 : \ o -
________ D 40

" Amount of

3
B
?
rainfall (mm) - 1
. 150 F 7T
$
!
.100 |

t
13
¥
€
¥
1
k4
H
1
1
1

Jan Feb Mar Apr May Jun

QIZ,a 90° Q12b. 120"3]'2]3 PICTURE > £HFO = A0EF = A0FE = 60° ,AHFO = Isgceles, AFHO =
SHFO =+ 190° ~ 120°) + 2= 30°,4X = 30° + 60° = 90°, $GFE = 4GHO = £Y = 120°
Q13.99.98cm 398 - 7.7 = 99.98
Q14 Tile B {0dd) Row 1 PA (11); (even) Row 2 3B (1 0), {Odd) Row 10 9)3
Q14b. 158 » 105 = 7 =15,11.x 8= 88, 10x7=70,70+88=158 =
Q152 10587.5mE s x 750.25 = 105875 _
- QlSh 27.774cm’ -)756 25 +25 78125 (1756.25}: 14}+[25x6) 12)737.5 107 375 r781 25 13744' B
'"'-137444-14—-27744 . o

Q16,186 P42+3= 14, 18 x = 56, 56+4—60 -—x3 - 90, 90+3 93 93x2 =186 B

Q17744 2>100u ;: 100u + 280 150u + 140: Sﬁu + 140, (iSOu + 140} [SOu +140) 520
100u = 520, 520+280=800 : .
Q18.5140 92u 440, 1u 9$40 2= $20, 70 >$20 X7 ~$l40
: ] THE END




